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Simultaneous Equations I¥I
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Guidance

1. Read each question carefully before you begin answering it.
2. Check your answers seem right.
3. Always show your workings
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e Solve the simultaneous equations

5x+3y =41

50 2%+ 3y =20
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2 Solve the simultaneous equations

S5x+y=11

Aﬂ 3x—-y=9
Y94 = o
E = @85
;a.(+J > 1
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3. Solve the simultaneous equations

x+7y =64
o x+3y=28
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4. Solve the simultaneous equations
4x —4y =24
x—4y =3

~y > &
1= F
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a4 - Uy =34
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5. Solve the simultaneous equations

2x+4y =14 M
/
all 4x -4y =4 F i G
by 19

)P S s (o TRNPTIRR, Ao S
3)
p 4
6. David buys 2 scones and 2 coffees in a shop and the cost is £18.
Ellie buys 3 scones and 2 coffees in the same shop and they cost £22.
A
Form two equations and solve to find the cost of each scone and each coffee.
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¥ 4 Alan and Connor have £6.70 in total.
Alan has £1.70 more than Connor.

Let a be the amount of money Alan has.
Let ¢ be the amount of money Connor has.

Set up a pair of simultaneous equations and solve to find out how much each

person has. [L{—C ) é?‘ [;.2 7‘( : é~7 [Au/’—/
g oa-c =7 Pl Tl
la > 44
A 41

8. Solve the simultaneous equations ,
) (heck

6x+y=-2
sl 6x —3y =14
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9. Solve the simultaneous equations

2x+4y =26
3x—y=4 KXY

(2L -y 2

10.  Solve the simultaneous equations

3x+2y=16 x5
Ix=3y=2 *F

Do not use trial and improvement

12 fl/ : 48
ﬂf%;%;i“

3L =5

’ =4
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11.  Solve the simultaneous equations
3x—-2y=14
/7[[ x+2y =10

12.  Solve the simultaneous equations

3x+5y=1 x?32
2x =3y =17 X5

Gy + 15y 2 3
g =155% 29
all _—_——
= 39
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13.  Solve the simultaneous equations

x=y=23 3
2x+3y =8

41 - 5
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14.  Solve the simultaneous equations

2y—=5x=9 K3
4y +3x =5 X5

L, - 151 = &7

7!
26](7:2

g +32L =5
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15.  Solve the simultaneous equations
2x+9y =43 x1
3x+2y=7 X

1Al

271+ 1y ° ‘Z
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16.  Solve the simultaneous equations

5 -3y =24 xY
2x—4y =4 x73

qa1 ~ 124 = 44
Lot "IZ(J > 1
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17. A museum sells adult tickets or child tickets.

Fozia buys 4 adult tickets and 1 child ticket for £120
Sami buys 5 adult tickets and 3 child tickets for £171

Work out the cost of each type of ticket.

a1/+(\}:l&0 X 3

S 39" I#1
124 +34 2 30
b Ly I
71 = [gq
}L: y\?’

18.  Solve the simultaneous equations

dx+3y =75 x5
3x-5y=107 «x3

20X t 16y = 3%-5
9 ~ 154" = 321
e

¢ . 44
g p s = 694
z= XY
4.4 +3(/;?-(
> -2/
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19.  Solve the simultaneous equations

Ay -1l
/

2y =8x+11
2x + 8y =27
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20.  Find the coordinates of the point where the straight lines below cross.

Y—3x =3
x—2y=4

S %/ #(7 = 5 ¥ &/1/
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21.  Solve the simultaneous equations
3a+c =38
ML 2a-c=1
St < 15
a=3

Q4c <8
c> -

[we ] 2F*¥

22.  Solve the simultaneous equations

Ox —6y =114 X 3
S5x=9=3075 x2

L FL = 18, = THL
y
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(72 2 2405
7= /65
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23.  Solve the simultaneous equations

2y =x+10

Pp=2x~T7 &%

dp 8 k=1
272 1-)—10

wh 4~
o =73%1 -4
22 >d4
Ze=¥
2y s §+1°
/11t
s
Solve the simultaneous equations

24.

4 -y =17
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25.  Three bananas and two pears cost £2.07
Five bananas and three pears cost £3.33

Find the cost of ten bananas and ten pears.

- 22 + F1 > 207
<) Hl(y 2107 ){"} 4z 135
5} ’,}] - 395 l:l-/)
1S+ 10y 2 1036 240+ 450 ¢

4
26.  Solve the simultaneous equations
Sx+2y=-34 X3 etk
x) <
4x — 3y = —41 - A 3 =l
[Et by - 107
sdy = ~BE
_A’ﬂ I évj
23x > - 1%8%
- S
/Y, +ZJ = ~34
27 > 6
-
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27.  Albie is training for a marathon.

He jogs either route A or route B.

During April, he jogs route A nine times and route B five times.

Route B is 8 miles longer than route A.
In total, he jogs 89 miles in April.

In May, he will start jogging route C.
Route C is 20% longer than route B.

Work out the length of route C.

94+ 58 = 81
j - A 1

44 +58 = 8¢
TEY L g x4
,q4.+4£7= )

94 r 58 = 8
L e,
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28.  Solve the simultaneous equations

6x + 2y = 13¢
x+2y=-2¢c

where ¢ is a constant

Give your answers in terms of c.
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29. Shown below is a parallelogram. o9
3y + 78

8x + 3
2x—4/
/Y
75

Work out the perimeter of the parallelogram.
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